A ZAIHE D
K T AIDHE
SR ZTAIHE

A

SN HH G (EH) - MBAY - BYS Loy e s
AlLH = 1 18,835,816 20,450,323 21,614,507
= 1,170,000
= 585,000
Al 17,080,816
SAINY 1,945,200 572,000 1,373,200
S A= 1,945,200 572,000 1,373,200
SAHEHRFA 45,200 32,000 13,200
203 HRF&H| 32,000 32,000 0
03 AMEFIHRFAH| 32,000 32,000 0
O ZAIAHE A=A 6,000
O SAZegRFA 6,000
O ZeAeE 6,000
O ZANRsEYREa 4,000
O NEsetHdRF=A 10,000
204 XA 13,200 0 13,200
03 SEHREH| 13,200 0 13,200
O o=l 50,0003 »22H «12& 13,200
H@Hel SAHEANLE 2E 29 100,000 40,000 60,000
401 AM&HIL 2048 100,000 40,000 60,000
01 Al&H| 100,000 40,000 60,000
O &2 ZAIA Z2EES 100,000
SADJIEZHE dRHA 500,000 0 500,000
401 A &HIL 2048 500,000 0 500,000
01 Al&H| 500,000 0 500,000
SINPES EETEE-E 500,000
SAZEHE (BEXY celHE)HEsd 1,000,000 0 1,000,000
401 AlEHIZ 2 1,000,000 0 1,000,000
01 Al&t| 1,000,000 0 1,000,000
OENHE(SENS, IS HE ) BA B 1,000,000
ST SHHZ 2e HEWERNEY 300,000 0 300,000
401 AEHI L2048 300,000 0 300,000
01 Al&H| 300,000 0 300,000
OSZMESHEZ FEGERXNE4 300,000
SANHEEZ o4 10,020,000 13,475,000 23,455,000
= 1,170,000
& 585,000
Al 8,265,000
SAAHE E2 i 10,020,000 13,475,000 A 3,455,000
1,170,000

H o

585,000

—_




SA SAIHE
M TAHEEZ OHE

&2 SAHE =2 4 (ctel: &
SN CR(EH) - NRAY - BES 0l & 24 e BlnE2
Al 8,265,000
HY~HOIE 22 (RYEABER) 1,250,000 500,000 750,000
401 A EHIL 204 1,250,000 500,000 750,000
01 Al&HI 1,249,000 499,000 750,000
O A Z2~FALHEAEZE A 1,249,000
03 AIZ=R0i4l 1,000 1,000 0
O AMER0HdI 1,000
SAHE E2 MAREXN B4 600,000 300,000 300,000
401 Al&HIZL=ROHYI 600,000 300,000 300,000
01 Al&H| 599,000 299,000 300,000
O EANAHECTZMREXNEAZ 599,000
03 Al&Z=R0HHl 1,000 1,000 0
O A& =01l 1,000
NEE7095H T 2EE At 300,000 400,000 A 100,000
401 Al&HI LS04I 300,000 400,000 A 100,000
01 Al&H| 299,000 399,000 A 100,000
O NYE709sd =2 8 E DAL 299,000
03 Al£ =204l 1,000 1,000 0
O A& S0HYI 1,000
0ld=s B2 2~20I0ts2t T2IHE S A 450,000 420,000 30,000
401 A &HIL 204 450,000 420,000 30,000
01 Al&H| 449,000 419,000 30,000
O Dig=sE2d2~Z 00242 & S Al 449,000
03 AIZ R0l 1,000 1,000 0
O AES0HY| 1,000
Fots ZotaD @ EZ2OHE 3 A 700,000 800,000 A 100,000
401 Al EHIL 201 700,000 800,000 A 100,000
01 Al&HI 699,000 799,000 A 100,000
O 232U NIATZ2HE S A 699,000
03 AIZ20i4l 1,000 1,000 0
O A& =R 0HHI 1,000
L2866 T2 MHESA 500,000 400,000 100,000
401 Al&HIZL=RCHYI 500,000 400,000 100,000
01 Al&H| 499,000 399,000 100,000
O AESEZZINE B A 499,000
03 Al&£=0HHl 1,000 1,000 0
O A4 =2 0HHI 1,000
SAAHEANEEZ2MAIEAH E KX 2tel. Ehl 380,000 400,000 A 20,000




A SAIHED
M TAHEEZ OHE

R TAHE =2 - (ehel: =3
_ _ _ Muo
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
401 AIEHIZ 208 380,000 400,000 A20,000
01 Al&H| 379,000 399,000 220,000
O ZAHENEZAANEH 2 X2l 379,000
03 A&E20HYI 1,000 1,000 0
O A& S0HYI 1,000
SERAEE SHEAMY 2,040,000 3,000,000 2960,000
= 1,170,000
S 585,000
Al 285,000
401 AIEHIZ 208 1,893,270 3,000,000 A 1,106,730
= 1,085,923
= 542,933
Al 264,414
01 Al£HI 1,890,270 2,995,000 A 1,104,730
O Z2FLESSEAME 1,890,270
& 1,085,923
= 542,933
Al 261,414
03 A&Z20HYI 3,000 5,000 A2,000
O SFAEESSEAME AMERUYI 3,000
403 AXIHHS K201 146,730 0 146,730
= 84,077
S 42,067
Al 20,586
02 BI12SO0CHEHCHE AL I 146,730 0 146,730
O s72ESs4AMH 146,730
= 84,077
S 42,067
Al 20,586
s S0t E2HEEAM 300,000 400,000 100,000
401 Al&HI YR OHYI 300,000 400,000 A100,000
01 Al&H| 299,000 399,000 A 100,000
O FLST=0s T2 IHESA 299,000
03 Al R04Hl 1,000 1,000 0
O AlZ 20 1,000
20 ga40ts =24 300,000 400,000 100,000
401 Al HI YL SO 300,000 400,000 100,000
01 Al£Hl 299,000 399,000 100,000
O 21 2402 S2HE SA 299,000
03 A2 204bl 1,000 1,000 0
OAlZ2 204l 1,000
P)2MEA-ZSSAIHEI E2HE S AL 2,200,000 300,000 1,900,000




A SAIHED
M TAHEEZ OHE

Sl TAAHE &2 4 (9 E2
=] X EH . CLO (5 SALO] . THA 2 Al OH HEE =2}
401 AIEHIZ 2O 2,200,000 300,000 1,900,000
01 Al&HI 2,199,000 299,500 1,899,500
O F)ZUG~-BSAMHLZ 2L S A 2,199,000
03 Al =204y 1,000 500 500
O A&l 1,000
deds SOE TAHE S2EESA 700,000 0 700,000
401 AIEHIZ 2 700,000 0 700,000
01 Al&HI 699,000 0 699,000
OdUYsSUIETAHE =S EH S AL 699,000
03 Al&=20Hdl 1,000 0 1,000
OA &R0 1,000
DA AR 22 =HFH| 200,000 0 200,000
401 AEHIZ2OHb] 200,000 0 200,000
01 Al&H| 199,000 0 199,000
O A2 UG ARIE 2 =8 Zdl 199,000
03 A& 01l 1,000 0 1,000
O ZaZUHG A E=2 =8 ZHl Al 20| 1,000
HOtAOtES =8 =2 EH| 100,000 0 100,000
401 AIEHIZ 20U 100,000 0 100,000
01 Al&H| 99,500 0 99,500
O J0tat0ts =9 2 &4 99,500
03 Al =20HY| 500 0 500
O JAorktotEg =49 S 23Hl AIE=2UY] 500
NEIbsst SADIgE X4 2,830,000 1,350,000 1,480,000
AT 243 A 2,830,000 1,350,000 1,480,000
AU RSZAELZSANEY 2,800,000 1,100,000 1,700,000
401 AIEHIZ 2 2,800,000 1,100,000 1,700,000
01 Al&HI 2,799,000 1,100,000 1,699,000
O HAURSS2HEE EXNEHLY EA 2,799,000
03 AlI&=20HdI 1,000 0 1,000
OA &SR0 1,000
TASSANESHF AL 30,000 0 30,000
401 AEHIZ2OHY| 30,000 0 30,000
01 Al&H| 29,500 0 29,500
OEANSBSANEER L EH| 29,500
03 A& 0HdI 500 0 500
OA &S UHI 500
S AICI AR 150,000 500,000 A 350,000




D ALHE D
S EAIOX
DS AICAR

M- EB .S (SH) - MEAY - BAS dE = Hm=2
o= T\ 2 * - (= R wi e e 0:”/|l|,% Wsa
A CIXFOI 150,000 500,000 A 350,000
HCE 28 FAH0| 2 &322 x4 150,000 0 150,000
401 AlEHILE0HY] 150,000 0 150,000
01 Al&H] 149,000 0 149,000
OHETE 28 FAQ| &2 &2 X4 149,000
03 Al&E=20HY] 1,000 0 1,000
OAlZ20bI 1,000
HESAAH| (S AIHE D) 210,616 318,323 A~ 107,707
ALY (S A HE D 103,116 194,923 A91,807
S 29H| (S Al HE D) 103,116 194,923 A91,807
101 e12d| 103,116 121,603 A 18,487
01 B 103,116 121,603 N 18,487
O Al2t224E 7,457 3 %23 45 A| 2Ex 128 92,616
O AIIEAHH| 52,500,0002 *1/30%x6! 10,500
U (S AIHE D 107,500 123,400 A 15,900
|2 A (S AIHE D) 107,500 123,400 A 15,900
201 LBt AH| 66,400 89,000 A 22,600
01 AI22t2|b| 61,000 86,000 A 25,000
O SEA#HEYEL2 2 DU XA B 26,000
O EAAHEREZZEDE 5,000
O SAHEKARAS =Y T AICIXCA 22 R T 20,000
O AT H 928 A 10,000
02 22244 5,400 3,000 2,400
O &I|, M6l % M3lg S 5,400
202 O4d] 33,600 34,400 A 800
01 2W Ayl 33,600 34,400 A 800
O SUAEHIRFE(ZIIAIE =& 15,000
O Aegs=aa g 18,600
203 2R =&H| 7,500 0 7,500
01 JI2SHS2=XH| 3,300 0 3,300
O J&A2I9AL2FXH| 275,000 x12& 3,300
04 ENSYEYR=AH| 4,200 0 4,200
O BAS2IFHL2F=48H| 350,000& x12& 4,200
S (S A HE D 3,680,000 4,235,000 A 555,000
SEHHKES(ZAIHE D) 500,000 1,000,000 A 500,000
JI0IAHEESHZE M= 500,000 1,000,000 A 500,000
701 DBt HEEZ 500,000 1,000,000 A 500,000




SN EAHED
HE: WRES(SANED)

Sl RN T B (SAIHE D (e @e
_ SIEN
RA B SA(BH) - NRAY - B 01 e HRE2
01 JIESI N ES 500,000 1,000,000 500,000
O FIlnlZHsLsH B 500,000
EEXS(SAHED) 3,180,000 3,235,000 155,000
YT (ZAIHED) 3. 180,000 3,235,000 55,000
311 MU SB0IXta e 380,000 435,000 55,000
02 Al - @ - BXICHLII SR S0 X4 8 80,000 120,000 40,000
O ZYEIZT AL 01 XA 8 (504H) 80,000
04 SAHLILB0IXta e 300,000 315,000 ~15,000
O SYEHY MESSNS OIX&H('96) 50,000
O 2YEY WESSNS Ol &('o7H) 30,000
O HOt=2 HES SN OIX &+ ('96H) 70,000
O HO=2NE WHESNZ 0INAE('97d) 60,000
O HE2HE WHESNZ OIS ('98H) 90,000
601 XL SESatet 2,800,000 2,800,000 0
02 Al- 2 2XAHLIISHYZ B34 1,000,000 1,000,000 0
O 2YEY HEZA B3ae(5H) 1,000,000
04 ZAFRHLIAZHE 1,800,000 1,800,000 0
O YEHLHSEZ WHESAS FS348('9
63) 2,000,000,0002!*1/10 200,000
O YEYEEEZ HHESAS FS348('9
74) 2,000,000,0002!*1/10 200,000
O HHEZHETA WHESHS B34’
61) 4,000,000,0008!*1/10 400,000
O HHE2NETA WRESAHS ASLE('9
74) 5,000,000,0002!*1/10 500,000
O HOE2NETA WRESHS ASLE('9
8) 5,000,000,000!*1/10 500,000




A AL

MM JADEHUNS Q& T2 &=
SRl EE IIRSHEXSE Y 2RI 2 (&te @2
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
AHa 25,168,251 25,013,273 154,978
= 726,300
2 4,942,000
[ 493,572
Al 19,006,379
NEDELNE QA T2Y == 17,382,935 17,158,638 224,297
= 725,000
2 916,000
[= 217,500
Al 15,524,435
WS IZ2EATH L T2 22 1,675,147 873,350 801,797
C2 |X22 423,140 167,400 255,740
201 LEt2HH| 44,940 20,000 24,940
01 AtRZ2lH] 31,100 20,000 11,100
O Jt2I| RYU(EH2D1,EFHEII, AIDI)
5,000 x4, 000% 20,000
O T2Z2IMEBA HAEH SXH 2 AIR=2
=yl 1,500
O T2HCIMEA HEFH 222X A2 1,100
O AR S22 AF22(5ZX) 1,500
O 2. ZSMWHEZREX) 2e| S22
2 S| 22 7,000
02 222%H| 13,840 0 13,840
O T2HCIAMRA ROIHHl AIAE 22|
320,000 10 A * 128 3,840
O SR2CIAIRA Z2229H| 10,000
204 E S sHH| 19,800 0 19,800
03 SEHL22AH 19,800 0 19,800
O Hergs| 50,0002 x33%H « 12& 19,800
206 XH2H| 177,400 127,800 49,600
01 24l 177,400 127,800 49,600
O a2tEx2 0la2 7 65,0002 *500E 32,500
O 2tEx2 M 7¢ 55021 +3,000 £ 1,650
O Meleds =84 72 12,0008 5,000 60,000
O oexg FE28 2¢
1,300 «10,000%& 13,000
O E2EX2 AHE 7 5,00094 x200 L 1,000
O 2ME42 IAZE(25IE) Y
13,0002 1,000 13,000
O oErgre g2t 2
250,000 204 5,000
O E28XE4 ABEsE 2012, 3
e E S) 10,000
O M=H 7 10,0002 4,000 40,000
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A AL

M X iRHUHS 9B T2 HE
o9l WS IZBATL U CRRA 2L (Sl &2)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
O UEE+8 AHA 7Y 25,0002 504 1,250
401 Al&HIL 20| 15,000 10,000 5,000
01 Al&l 15,000 10,000 5,000
O S22 HIIS HelHlg(2uH Z8)
50,0002 ¥300= 15,000
405 THAHE S 166,000 0 166,000
01 RAUSEZ S| 166,000 0 166,000
O S22 M8XY 7Y 30,000,0008 1CH 30,000
O 2248 23 2L (ATLHE)
6,000, 0002 1CH 6,000
O 2248 24D 29 130,000,008 *1CH 130,000
BEIY XNE G 9,520 14,800 A5,280
201 Yereg| 5,520 4,800 720
01 At 2l 5,520 4,800 720
O D= II=HI (5 SRII)
100, 0008 * 1% +25| 200
O BEIBE= VEHR DAMN HZ] 1,000
O BHHS£8 SR (5 SEII)
60,0002 * 124 %23 120
O B® =357| 42l 300,000 *4CH 1,200
O BE =ZJ| AA £42  350,0008 =40H 1,400
O BN 22 TS M
100, 0008 %4 +43| 1,600
401 Al&HIL 20| 4,000 10,000 6,000
01 Al&| 4,000 10,000 6,000
O B= EXB SABAHl 200,000 <200H 4,000
CERRENY U rEue 1,079,087 508, 750 570,337
201 Ygreg| 15,000 0 15,000
02 ZZ2Y| 15,000 0 15,000
O MA&ZY SX2elUl(4ZI] 130, MEl 1
OCH, Rl 14! 15,000
206 T2l 267,500 217,500 50,000
IET 267,500 217,500 50,000
O HAg gatzary 200,000
O Hag 42 7 140,000 *300S 42,000
O HEg 2o 7 25,0002 *500m 12,500
O M&8 SHFHL 7Y 2002 +30,0000H 6,000
O MAXH(YsZs S)La8 BAETY
70,0002 *1007H 7,000
401 Al&HIL 20| 770,587 291,250 479,337
01 Al&H] 765,000 291,250 473,750




A AL

Ha: NHRYUNS SIS T2 25
o9l WS IZBATL U CRRA 2L (e @8
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
PR EEIEEEEEEICTERD 200,000
O MAXH 2 &Y SAEHD A 330,000
O Mazmy 222X EXH 150,000
O T22 UMW 2SN 29 47 45,000
O T2zel UM 2L 232E & 40,000
02 22| 4,587 0 4,587
O MAXM 2 &Y SAEHD A 4,587
03 Al& S CH| 1,000 0 1,000
O HARM 2 &yl S2ED &= 1,000
405 THAHE S 26,000 0 26,000
01 RMUSEH S| 26,000 0 26,000
O M&dl 2 13,000, 00024 *2CH 26,000
gc gs Rre 500 500 0
403 XX SIS K20 & 500 500 0
02 2125 0T EHCH S AF2t bl 500 500 0
O HTALS +3FY S20(EE2140H2) 500
czog Hel 95,000 105,000 210,000
305 HASS 10,000 10,000 0
01 BH&2S 10,000 10,000 0
O T2eX2I B2 A otha 10,000
401 AEHIYLS 85,000 95,000 A10,000
01 Al&| 85,000 95,000 210,000
CRHY ASEN(NSEX)2A 85,000
DESEAL A A 2,400 2,400 0
101 Q1248 2,400 2,400 0
04 JAMZRISES 2,400 2,400 0
O RESZA ARY U 24yl S 2,400
HEAYS BATA 65,500 0 65,500
201 Ygreg| 6,000 0 6,000
01 AtRZelt| 6,000 0 6,000
O BEZAYS BLJA(SP 408 222 9
2H4) Ol 2 DE SH 22 MY 6,000
206 2| 19,500 0 19,500
NIE 19,500 0 19,500
O AL P48 0122 (27 A0 2
22 2l 12H2) 65,000%300E 19,500
403 XX SIS KHZ O 40,000 0 40,000
02 2IIZSOTHEHCHE AL b 40,000 0 40,000




—

=

=

t

1

SA: AL D
M X iRHUHS 9B T2 HE
SRl S JNRBAEL Y CERIDL (9l
_ _ HE T
SN B SRA(SIH) - MBAY - BAS 0 & 24 0l ot o ClImEE
O BTAYS BATBA(ST A0IM, BAT A
gs) 40,000
2EEH TR AL 1,240,000 2,103,000 863,000
2EEH TR AR 1,240,000 2,108,000 863,000
401 Al&HIL 20| 1,240,000 2,108,000 863,000
01 Al&H] 1,235,000 2,100,000 865,000
O NF-ZHN T2 HTFHTA 340,000
O WE-282 £2 HTFHTA 895,000
03 Al&=CH| 5,000 3,000 2,000
O AN&=HY| 5,000
SHECRHTIAL 2,300,000 1,600,000 700,000
SHEZ RS TIALY 1,400,000 950,000 450,000
401 Al&HIL 20| 1,400,000 950,000 450,000
01 Al&H] 1,395,000 946,000 449,000
O HUSA-YESH T2 HEFBA 495,000
O HUTA-UESY T2 FTEHDA(22T) 200,000
O Sl8sE 20758 T2 HTHBA 200,000
O 2755 01548 T2 HTHBA 500,000
03 Al&=CH| 5,000 4,000 1,000
O AN&=hyl 5,000
CHORRIE! ~ NI S2HEYTA 200,000 0 200,000
401 Al&HIL 20| 200,000 0 200,000
01 Al&H] 199,000 0 199,000
O HHOFRIS B R A C2EHTHTA 199,000
03 Al& S CHY| 1,000 0 1,000
O A& 1,000
SOEE2 028K BHAY 50,000 50,000
401 Al&HIL 20| 50,000 50,000
01 Al&H] 50,000 50,000
O DIZ8X L AREX B4 50,000
AT OHA ~ A MBI R SHEFTA 350,000 400,000 50,000
401 Al&HIL 20| 350,000 400,000 50,000
01 Al&H] 349,000 399,000 50,000
O YUWOHH-N2452 T2 HTHBA 349,000
03 Al& S CHY| 1,000 1,000 0
O A& ,000
AT HY-AH OIS T2 HTZDA 300,000 200,000 100,000
401 Al&HIL 20| 300,000 200,000 100,000
— 10 —




fA: A

M ARELNES A C2Y 25
CPl: SHECREHTIAIY (erel: @2
= — NUE &
S EHB .S (BH) - HRAIY - B2 Of) A o4 e HDZS2

01 Al 299,000 199,000 100,000

O YWHB-AHOISY 2 SHTHT 299,000
03 AlZ=rHt| 1,000 1,000 0

O A&} 1,000
SEANEZ2 | 2 880,000 1,352,000 472,000
PE L KBS 80,000 100,000 £20,000
401 Al&HI 2SI 80,000 100,000 A20,000
01 Al 79,500 100,000 20,500

O 8k 2 DY(CHEF)RNB+ 79,500
03 Al& =l 500 0 500

O Al&=HH| 500
SEEXE ZHIZA 300,000 251,000 49,000
401 Al&HI LSO 300,000 251,000 49,000
01 Al 299,000 250,000 49,000

O SREXT HUIZA 100,000

O CS2HAILES SILH o 199,000
03 Al& =0t 1,000 1,000 0

O Al&=] 1,000
ZAHDIE N2 A 500,000 1,001,000 A501,000
401 Al&H LSO 500,000 1,001,000 A501,000
01 Al 499,000 1,000,000 A501,000

O 24T X2 HEBA 499,000
03 Al&SCHHI 1,000 1,000 0

O Al&=rt] 1,000
CRHYIAY 3,774,500 5,665,000 1,890,500

= 725,000

= 916,000

= 217,500

Al 1,916,000
£2 2 os Fy| 1,240,000 1,110,000 130,000
401 Al&HI 2SO 1,240,000 1,110,000 130,000
01 Al 1,235,000 1,105,000 130,000

O NULRALTZ L HEH A 395,000

O AU 2EHHI2A 50,000

O HEANHBTR LHHHIZA 270,000

O SEXNY M 2I|AHY 100,000

O 2XUsY T2 HLXTZA 120,000

O 82 YT EHA 300,000
03 Al& =0t 5,000 5,000 0

O Al&=H] 5,000
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R aF N,
P AGmEEdE flE E2E
P2 EHIAY

3

T

Ot

_ _ _ N E
SN EB -GS - MBAY - BES o G HRE2
VT2 AEN M AL 1,210,000 660,000 550,000
2 850,000
Al 360,000
401 AlHIL2OHYI 1,210,000 660,000 550,000
2 850,000
Al 360,000
01 A&l 1,209,000 660,000 549,000
O IBE2 X HA A 1,209,000
2 850,000
Al 359,000
03 Al& SO 1,000 0 1,000
O A&l 1,000
DEAD XM AL 132,000 94,000 38,000
= 66,000
Al 66,000
401 AlEHIL 2O 132,000 94,000 38,000
2 66,000
Al 66,000
01 Al 131,000 92,000 39,000
O WEAMD FER NHEAL 131,000
2 66,000
Al 65,000
03 Al& S CH| 1,000 2,000 A1,000
O A& 1,000
NEHQI TS Al 942,500 1,740,000 AT797,500
= 725,000
= 217,500
401 AIEHIL L] 942,500 1,740,000 AT97,500
= 725,000
= 217,500
01 A&l 942,500 1,735,000 AT792,500
O XENHOIT2 2E A 942,500
= 725,000
= 217,500
Dl2= 2| 250,000 0 250,000
401 AIEHIL 2] 250,000 0 250,000
01 A& 249,500 0 249,500
O UZE S2EF 0I2e 149,500
O e ots0te NYE 100,000
03 Al& S CH 500 0 500
O A& 500
ZOIEAAY 3,400,000 3,407,000 A7,000
ATRD FOEAAY 2,400,000 2,407,000 A7,000
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SH: AL
M NREUNS S TR HE

ol FolmEAY (B9 &2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
401 Al&HI LS04I 2,400,000 2,407,000 A7,000
01 Al&H| 2,395,000 2,400,000 A5,000
O 8.8.8 FU=EAY 2,395,000
- SYIIAIE RX2c 645,000
-8.8,8 FUSIAANL @ 5,8,8) 1,750,000
03 Al =R0HHl 5,000 7,000 22,000
O AMERHdI 5,000
QIE2E U XIS tAY 1,000,000 1,000,000 0
401 Al&HI LS04I 1,000,000 1,000,000 0
01 Al&H| 1,000,000 1,000,000 0
O FRUEH L XNASOAIY F& 1,000,000
sl 75,888 90,288 A 14,400
HZI=E 4 22,888 37,288 A 14,400
201 LEHRHH| 6,688 7,688 A 1,000
01 AtER22/Hl 4,000 5,000 A 1,000
O sgZust5s 2osae 23 4,000
02 223l 2,688 2,688 0
O H+=%s SAZLD=E =1 Mi==8
22,400 x10E+122 2,688
206 M=l 1,200 1,200 0
01 M=l 1,200 1,200 0
O =gZusEAH AN (%, 8 E
2s) 100,000& 128 1,200
401 A &HIL 204 15,000 20,000 5,000
01 Al&HI 15,000 20,000 25,000
O 2g210s 25 2XNANE R 15,000
Z0=2 HAAE X 22l 53,000 53,000 0
401 Al&HI YL SO 53,000 53,000 0
01 Al&H| 53,000 53,000 0
O #IFE =9 AAN &&
7,000,000 *5H 35,000
O &= AHAC o128 ¥ Hd| 18,000
st 02t E2XY KA 4,037,400 2,068,000 1,969,400
ots SXNEx= At 700,000 700,000 0
401 Al&HI LSO 700,000 700,000 0
01 Al&HI 695,000 696,000 A 1,000
O Eots SANESSAH(SHIIAH ) 495,000
O Bt EXISAHEIA) 200,000
03 AIZ=20H 5,000 4,000 1,000

_13_




SN
X XH .
S Tt

oLk

SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
O A= 0HHI 5,000
Izs |RNE=S 2,297,400 610,000 1,687,400
201 LEH2HH| 1,524,400 0 1,524,400
01 AtR22/Hl 12,000 0 12,000
O Jtz2s 2ets ¥ | 12,000
02 23234l 1,512,400 0 1,512,400
O =g, E2ts 3322l 1,510,000
O JIZ2& ExEt 223dl AIAE 22l
200,000* 1JH 2+ 12 2,400
401 A EHIL 204 638,000 610,000 28,000
01 Al&HI 633,000 607,000 26,000
O JI2sS d2 KBS SAHEIAS) 250,000
O IH2EsF= SHXEHIIEX SA 100,000
O L2 JiI2s. EZJ| WUHSAM 100,000
O &JI8d RHEMNa E=3A 100,000
O Jtz2s FHIZA 45,000
O Of2t F2t XF B A 38,000
03 AIZ 204l 5,000 3,000 2,000
O A& =CHHI 5,000
405 KHaHFESH| 135,000 0 135,000
01 TN =SS HSHI 135,000 0 135,000
O HzsE+8 iz P (HEX)
135,000, 000 *1CH 135,000
I2E EX & WHISA 600,000 320,000 280,000
401 Al&HIZL=ROHYI 600,000 320,000 280,000
01 Al&H| 598,000 318,000 280,000
O Rgatet W Jt2S AXISA 100,000
O NE(EE) &2 Jt28 EX3AM 148,000
O &gz 28 WA 350,000
03 AIZ 204 2,000 2,000 0
O A& = CHHI 2,000
2 ZEIHESA 300,000 300,000 0
401 Al&HIZL=ROHYI 300,000 300,000 0
01 Al&Hl 298,000 298,000 0
O 3AZY H2s ZEHESA 100,000
O FEI HHE2 R 2EMHEZA 98,000
O sn=H Bots ZZIHE S A 50,000
O WESALD AEXNSE ZHEXSA 50,000
03 AIZR0iH 2,000 2,000 0
O AMER0HY| 2,000
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SN AL
HE: XREUNS S T2 =5
SRl OIEEH OF SEXY R (S5 &2)
_ _ MNuE o
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ol AF o8 Hws2
RS SNESE WL 140,000 138,000 2,000
206 W&Yl 140,000 138,000 2,000
NRIE 140,000 138,000 2,000
O |XE4+E IHAY (T, 048I|,S|7 S
) 140,000
M BIIE 9i8t SAIIBAIL RS 6,565,800 4,982,386 1,583,414
= 1,300
=l 4,026,000
= 208, 100
Al 2,330,400
SENY L SUIIBAIL BB 5,074,300 3,732,386 1,341,914
=2 1,300
=l 4,026,000
= 208, 100
Al 838,900
S TiE S4HE 200,000 200,000 0
=l 160,000
Al 40,000
401 Al&HIL 2] 200,000 200,000 0
=l 160,000
Al 40,000
01 Al& ] 198,600 198,600 0
O HAXNEL SLWBAZHE S 198,600
= 160,000
Al 38,600
03 Al&=CHH] 1,400 1,400 0
O HAXNEL S+TBUEHE S 1,400
SE02 SENLAL 923,000 1,580,000 A657,000
= 646,000
= 64,600
Al 212,400
403 XS HSKZ0IH 923,000 1,580,000 657,000
=l 646,000
= 64,600
Al 212,400
02 BJI 2SO CHEICHE A RS 923,000 1,580,000 657,000
O SZ20i2 SSHLAS (BT ) 923,000
=l 646,000
= 64,600
Al 212,400
Y+ 31,500 27,300 4,200
101 121yl 31,500 27,300 4,200
04 JIZ 2RSS 4 31,500 27,300 4,200
O g+zpeloRy 35,0002 152 x602 31,500
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SN AL
B MAR SIIE 9IE SIIBAE 2S
Sl SENY U SIBIAIL BB (Sl &2)
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 il b o B2
HE DBt S ALY 2,841,500 1,614,286 1,227,214
3 2,550,000
Al 291,500
401 Al&HI LS OHYI 2,841,500 1,614,286 1,227,214
= 2,550,000
Al 291,500
01 Al&H| 2,834,000 1,614,286 1,219,714
O SEMATUIAY (TS NS, &4
o) 2,834,000
3 2,550,000
Al 284,000
03 Al&=R0HHl 7,500 0 7,500
O A4 =01l 7,500
IS BRRHTIA (D, 02) 957,000 125,500 831,500
& 670,000
& 143,500
Al 143,500
403 XXM SK=01S 957,000 125,500 831,500
= 670,000
& 143,500
Al 143,500
02 S| 2SOCHSCH A I 957,000 125,500 831,500
OJAFIEZSHTZHANL (0SS, 2 1W) 957,000
= 670,000
= 143,500
Al 143,500
el EelAtd 120,000 185,300 A 65,300
403 KX EMSK=01H 120,000 185,300 A 65,300
02 ZIIZSOICHECHE ARl 120,000 185,300 65,300
O =& 3XNZelMmg 120,000
SR MEHZA E5EX XA 1,300 0 1,300
= 1,300
201 LetEI| 700 0 700
= 700
01 AtS 22l 700 0 700
O 2L WAAEEA FEH A 700
= 700
202 O4Hl 600 0 600
= 600
01 =LA bl 600 0 600
O 2SWLAEZAL B Aol 600
= 600
SYIIBAEE RAEx=2] 1,491,500 1,250,000 241,500
XS G2 CHE ALY 112,500 110,000 2,500




SN
X XH .
S Tt

oLk

SH-EH . O3 - MBAY - BAS 0l aF ol Soe HRZ2
201 dBt23d| 2,500 0 2,500
01 At22telyl 2,500 0 2,500
O sgIIBAIYE &EH S SAHIS 2,500

401 AlEHILL20H] 110,000 110,000 0

01 Al&H| 109,000 109,000 0
O EE=XS Ol 2 CHEE AR (2000 A ) 109,000

03 Al =20HbI 1,000 1,000 0
O A&E20bI 1,000
N=Xl sXl2e 73,000 70,000 3,000
201 dEt2dd| 3,000 0 3,000
01 At22teldl 3,000 0 3,000
O s9Ju RSB SSL+LES 3,000

401 AIEHBIYL 20| 70,000 70,000 0

01 Al&HI 69,000 69,500 A500
O MEX SX22l(760HA) HLInH = 69,000

03 Al&20HYI 1,000 500 500
O AIE&20ib] 1,000
SsENEEL+ A2 38,000 28,000 10,000
201 Et23d| 8,000 0 8,000
01 AtR22tell 8,000 0 8,000
O =9, MEE4L B 2ZANLLE 8,000
401 AIEHIZL 20| 30,000 28,000 2,000
01 Al&HI 29,600 27,600 2,000
sEMEtEL X242 (1601A 2HECIS) 29,600
03 Al&20HYI 400 400 0
O AIE20Ub] 400
sdE HEad X2 68,000 42,000 26,000
201 B3| 18,000 0 18,000
02 ss294l 18,000 0 18,000
O sgolet =294l 18,000

401 AIEHIZ 20| 50,000 42,000 8,000

01 Al&HI 49,500 41,500 8,000
O sgESUHEZY SAAC(MARESCIS) 49,500

03 Al 20Hb| 500 500 0
O AIE&20b] 500

S I|IBAIE HHIS A 1,200,000 1,000,000 200,000
403 XMXSHHSA=20H 1,200,000 1,000,000 200,000
02 ZI|&S0HICHSHH &AM B 1,200,000 1,000,000 200,000
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SN
X XH .
S Tt

oLk

RA - HM . SI() - NRAY - BES 0fl &+ o e HRS2
S NEETED 1,200,000
HH2YAY (AL D) 1,219,516 2,872,249 A 1,652,733
= 67,972
Al 1,151,544
ol 2 Y| (A4 D) 1,077,476 1,148,619 AT1,143
= 67,972
Al 1,009,504
ol 2| (A4 D) 1,077,476 1,148,619 AT1,143
= 67,972
Al 1,009,504
101 Q121 1,077,476 1,069,359 8,117
= 67,972
Al 1,009,504
01 B 150,391 162,432 A 12,041
O Al2AQI2R4g(FH o £ItE)
45T R x34 <45 A| 2412 136,911
O ei2a3 67,395, 5002 *1/30+62 13,480
03 2IIHAZ 2R S 927,085 906,927 20, 158
O =3 1,341,6502 +2621 x 122 418,595
= 67,972
Al 350,623
O Jgsg 1,341,65021 +26% *400% 139,532
O N2eaesg
6,41821x1.5+35A1 244262 * 122 105, 127
O eixtag 51,3501 %262 x62 8,011
O sY22+y 51,3501 +1. 54262 x202 40,053
O exzesy 25,6752 +1. 54262 x20L 20,027
O HHBESY 80,0002 x262] 122 24,960
O YEEIH| 500,000 *26% x23| 26,000
O Z249Ha3 19,728
—6 ~ 70/8 36,0008 6% + 122 2,502
—9& ~ 100IQ 54,0002 %1% +122 648
—104 ~ 11=0/8F 60,0002 3% * 122 2,160
— 124 ~ 13:H0/8 72,0002 %12 %122 864
— 134 ~ 140/ 8 78,0002 %12 +122 936
— 144 ~ 15 0| 8F 84,0001 * 1% +122 1,008
— 154 ~ 160] 8F 90,0008 * 1% +12% 1,080
— 164 ~ 17:40]8F 96,0002 %1% +122 1,152
— 17 ~ 18 0|8 102,000% +3% * 122 3,672
— 18 ~ 19 0|8 108,0002 12 » 122 1,296
— 201101 & 120, 000! %324 122 4,320
O Jzay 15,360
- X 40,0002 %172+ 128 8, 160
- RUlE 20,0002 *30% * 128 7,200
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SA: BYAMYD
B B

Sl BN

_ _ _ Muo
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
S ALE It 11,150,442 11,208,468 A58,026
= 6,800,000
Al 4,350,442
ST 10,914,200 10,825,400 88,800
= 6,800,000
Al 4,114,200
3L 73,200 23,000 50,200
Ol EtfF8 01 OIFEX ALY 33,200 23,000 10,200
201 YEH2HH| 20,000 20,000 0
01 AtR22iHl 20,000 20,000 0
O OIF=HXXYE HYRFH LEH2HH| 20,000
202 O4dl 3,000 3,000 0
01 SUWHYI 3,000 3,000 0
O 0IF=HXXEY =X 3,000
204 R AH 10,200 0 10,200
03 SEZYREHI 10,200 0 10,200
O elgsl 50,0003 x 17 »12& 10,200
S HZ30tS HEAL 40,000 0 40,000
401 Al&HIZL=ROHYI 40,000 0 40,000
01 AlEHI 40,000 0 40,000
O =H=230t2 HEAIE EtEd XA 40,000
SRS F=EXS HEAS 10,841,000 10,800,000 41,000
= 6,800,000
Al 4,041,000
zoEE A2 = 300,000 6,000,000 A5,700,000
= 150,000
Al 150,000
401 Al&HIZL=ROHYI 300,000 6,000,000 A5,700,000
= 150,000
Al 150,000
02 Zeldl 300,000 500,000 200,000
O Zu3e dgz & 300,000
= 150,000
Al 150,000
Et2=2 4 2,000,000 4,100,000 22,100,000
= 1,000,000
Al 1,000,000
401 Al&HIZL=ROHYI 2,000,000 4,100,000 22,100,000
= 1,000,000
Al 1,000,000
01 AlZHI 1,993,000 4,096,000 22,103,000
O E22 e 1,993,000
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SN
X XH .
S Tt

el

}\_I XN XH . C|—O|(:|j;”) . }\.“bl}\l,o-l A2 AFOH I|_‘|LI;=|_|‘:_ HleDF
= 996,500
Al 996,500
03 Al 2 0HY| 7,000 4,000 3,000
O E2=2 M4 7,000
= 3,500
Al 3,500
E000 =& 7,541,000 700,000 6,841,000
= 5,150,000
Al 2,391,000
401 AM&HIL 2048 7,541,000 700,000 6,841,000
= 5,150,000
Al 2,391,000
01 Al&H| 7,031,000 698,000 6,333,000
O HMENIN =& 7,031,000
= 4,895,000
Al 2,136,000
02 Zeldl 500,000 0 500,000
O HEDN &H 500,000
= 250,000
Al 250,000
03 Al 20| 10,000 2,000 8,000
O SEDIN &H 10,000
= 5,000
Al 5,000
S0 P2E FHIS LAY 1,000,000 0 1,000,000
= 500,000
Al 500,000
401 AM&HIL 2048 1,000,000 0 1,000,000
= 500,000
Al 500,000
01 Al&H| 995,000 0 995,000
O0l&~Z A S2IE L 5L 995,000
= 497,500
Al 497,500
03 AIE=20bl 5,000 0 5,000
OO0l 8~ A2 S2HAE2 5HA 5,000
= 2,500
Al 2,500
S3Al&2tel 101,000 200,000 299,000
A& 2te] 101,000 200,000 A 99,000
S3AE 22 101,000 200,000 299,000
401 AlEHIZ 2 101,000 200,000 299,000
01 Al&t| 100,000 199,000 A99,000
O SHSEA EZA 100,000
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FA: SSAIE L
M Z3AL2e
ol SSAIE 2 (el =@
_ _ _ Muo
SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
03 AIZ R0l 1,000 1,000 0
O SHSEA BE==3A 1,000
HE2FZH (S SAS L) 135,242 183,068 NA47,826
QAR IH(SS AL D) 79,842 131,468 Ab51,626
QlARAH(SS A D) 79,842 131,468 Ab51,626
101 el ] 79,842 85,268 25,426
01 E= 79,842 85,268 N5,426
O Al2tel==% 7,457 3 «18F 454 2+ 128 72,483
O HItE 4] 36,792,500 *1/30+6 7,359
Jl2ZHI(S A ) 55,400 51,600 3,800
Jl23H(SZ A ) 55,400 51,600 3,800
201 B3| 23,500 24,400 A 900
01 AtS 22/t 23,000 23,400 A400
O SSMgY JRFA 23,000
02 =234l 500 1,000 A 500
O d3tz S MM3lt= 500
202 O4H| 25,200 25,200 0
01 WYl 25,200 25,200 0
gdHYR=A 25,200
203 HRF4Hl 4,200 0 4,200
04 REN2IHRF=LH 4,200 0 4,200
O FN2EHERFEHI 350,000 «12& 4,200
405 XtobE SHI 2,500 2,000 500
01 T =S FH SHI 2,500 2,000 500
O AIR4 HHIRsS +¢ 2,500
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¥
x
o
H0
02

N EH - S2A(3H) - MRAE - BES

}OH

-/

=2

B
2

= Hl o H

12,033,797
28,000
4,530,000
84,677
7,391,120

7,789,798

4,243,999

i
Je

e
nx

0
H0
02

Al

= 0 H

11,734,900

28,000
4,530,000
83,750
7,093,150

7,020,400

4,714,500

2l
Je

> H1 o 1

11,734,900
28,000
4,530,000
83,750
7,093, 150

7,020,400

4,714,500

6,460,000

4,530,000
1,930,000

2,800,000

3,660,000

401 AIEHIZ 208

6,460,000

4,530,000
1,930,000

2,800,000

3,660,000

01 A&l
O 2HHASAIZ=HEZIMLAIS (B XIONZALR)

03 A2 R04bl

O 28 SAIFHEZ LAY AIZ20UH

O\J

6,450,000
6,450,000

4,530,000
1,920,000

10,000
10,000

2,790,000

10,000

3,660,000

SOHEEEIBIAE

= HnH

126,000
28,000
15,000
83,000

140,000

A 14,000

=z HnH

126,000
28,000
15,000
83,000

140,000

A 14,000

O =d0IE MelXd AEA

=

= W

126,000

70,000
15,000
55,000
56,000
28,000
28,000

140,000

A 14,000

= H

137,500

68,750
68,750

300,000

A162,500

402 2Iz2tt=E01d

H

137,500
68,750

300,000

A 162,500
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SH: ASD
HE: T s U 2Y
el FeAhY EEREED
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
A 68, 750
01 BIZHREEE 137,500 300,000 162,500
O AFSlE DHFI| Ab 137,500
= 68,750
Al 68,750
DNHESEHT SR 2,280,000 2,367,000 87,000
401 AEHIL S0 2,280,000 2,367,000 87,000
01 Al&H| 2,273,000 2,360,000 87,000
O DM SBFEAX EXNOHAH S 2,273,000
03 Al& S CHY| 7,000 7,000 0
O DN SBEHX 23 AIL20HH 7,000
A HIEHEIAY 900,000 300,000 600,000
401 AEHIYLS T 900,000 300,000 600,000
01 Al&l| 898,000 298,000 600,000
O a BImaEN 2 Hy| 898,000
03 Al& S CHY| 2,000 2,000 0
O T& BIFEN 2 FHl A&y 2,000
L5 BSFY AN 205,400 605,400 400,000
201 Yereg| 2,400 2,400 0
01 AtRZelt| 2,400 2,400 0
O L2ZEXY NAMASIRE 42
100, 00024 *82 x33| 2,400
202 01t 3,000 3,000 0
01 =Ujoi ] 3,000 3,000 0
O BN SENEAN L NTUS 3,000
402 212H X201 F 200,000 600,000 400,000
01 DIZHREEE 200,000 600,000 400,000
O LEBSFAN 200,000
TA JIRY HUIAY 200,000 200,000 0
401 AE6IYL S0 200,000 200,000 0
01 Al&H| 198,000 198,000 0
O T2 FUI(NESK E&)AY 198,000
03 Al& S CHY| 2,000 2,000 0
O T2 FUI(NESK ZH)AY AlLE
CH 2,000
S0lE FehAIY 266,000 308,000 A42,000
308 XHXI IS Ol & 266,000 0 266,000
05 XIXICHAIZHRE 266,000 0 266,000
OS0E FUNBAY 266,000
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¥
x
o
H0
02

- _ _ NE
CEB . OS(3) - NBAY - BAS s T =5
LAHS FEINE ALY 180,000 0 180,000
403 XX SHAHSKA=01H 180,000 0 180,000
02 S| 2 SO0llCHStCH = A HI 180,000 0 180,000
OMIFHAHE FEIHEALS 180,000
HNASHS SUES2 KNSAL 980,000 0 980,000
501 X2 930,000 0 980,000
iRy =PNI=1 980,000 0 980,000
OMASHES 2UHESZ N 980,000
ASHE HA S 108,200 0 108,200
ASHEY 2Has F& 108,200 0 108,200
ASHE HAF FA 108,200 0 108,200
201 LEt29H| 19,000 0 19,000
01 A2 2eltl 19,000 0 19,000
OH=ERE3, SEZT, SLIYA Ao
o = 15,000
OHFE23Y ZAHME & AoxE S 4,000
202 04t 4,200 0 4,200
01 =2WAHI 4,200 0 4,200
Ods Ns=sHUA MEHs =H 4,200
204 AP HAH| 15,000 0 15,000
03 SEYRZH| 15,000 0 15,000
Otfora =yl 50,000& »25H = 12& 15,000
301 et A= 70,000 0 70,000
12 JIEtE A2 70,000 0 70,000
OHSAERUYE =5 70,000
HHIAHH (A=) 189,770 269,398 NT9,628
ol AH|(H =) 115,170 182,098 66,928
olEAY|(AHA=1) 115,170 182,098 66,928
101 14| 115,170 118,138 AN2,968
01 2= 115,170 118,138 N2,968
O AZAZ R Y 7,4573A#26H #45A| 2+x 12 104,697
O HIt8 4| 52,363,020& *1/30%6! 10,473
gl (As1) 74,600 87,300 A 12,700
Jlgdgl(As1) 74,600 87,300 212,700
201 dEt23| 34,000 49,100 A 15,100
01 AtR2t2ldl 33,000 48,100 A 15,100
O A5 g2Fd 33,000
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